Tina bought a handbag for $92. She had a discount of 25%. The tax was 7.5%. How
much was the discount? How much was the tax? What was her final bill?

The ratio of lions to zebras is 3 to 14. On a safari, Lena saw 136 lions and zebras
altogether. How many were lions? How many were zebras?

Order from least to greatest:
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If 15 boys make up 30% of the 15t grade. How many students are there in the whole
1st grade?

The ratio of apples to oranges is 2:5. If there are 48 apples in the basket, how many
oranges are there?

Jane sells oranges. Each orange costs $2.5. Write an equation that represents how
much she makes in a day. Find out how much she makes if she sells 12, 15, 25, and
30 oranges. Label your dependent and independent variables. Graph.







